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Working Out Prices 2


Write the answers to these sums in words:


plus  +     minus  -     multiplied by  x     divided by  ÷     equals  =


Example: £3  -  45p =			two pounds fifty five pence	
		
£29.50

1.                               +   46p  	=	_____________________________          


80p

2.                               -   20%  =	_____________________________          


4p

3.                               x   80  	=	_____________________________          


£45.80

4.                               ÷   4	=	_____________________________          


£1

5.                               +   £2 	=	_____________________________          


£17

6.                               -   £2	=	_____________________________          


£6,999

7.                               x   50  	=	_____________________________          


£211

8.                               ÷   0.5 	=	_____________________________          
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